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Instrumentation

Piccolo
2 Flutes
2 Oboes
Cor Anglais
2 Clarinets in Bb
Bass Clarinet in Bb
2 Bassoons
Contrabassoon

4 Horns in F
3 Trumpets in Bb
2 Trombones
Bass Trombone
Tuba
Timpani

Percussion (3 players: Bass Drum,
Tam-tam and Crotales)

Harp
Piano

Strings

Duration

3 minutes

Notes

Curved Form (No. 10) is a slow motion wall of noise. Starting in the depths of the orchestra, waves of sound are gradually
layered up creating a constant ebb and flow. As the music rises higher and higher, the waves get progressively shorter until
the whole orchestra comes into alignment creating a sudden apex in the piece. From that point on, the piece retraces its steps
and slowly returns to the low C with which it started.






Meditative, with a constant ebb and flow (c. 4 = 60)
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